Schwefel’s Problem 2.22 (F7)

F700=3 % 1+ [1% |

Properties: x  [-10, 10]°, F7(x")=0.

Schwefel’s Problem 1.2 (F8)

F8(x):zn:(2|:xj)2

i=l =l

Properties: x e [-65.536, 65.536]°, F8(x")=0.

Extended fio (F9)

n-1
FI(x) = flO(Xn ) Xl) + Z flO(Xi ) Xi+1)
i=1

flo(X, ¥) = (X" +y*)" [sin*(50- (X" + y*)"' +1]

Properties: x e [-100, 1001°, F9(x")=0.




Bohachevsky (F10)

n-1
F10(X) = > (%} + 27, —0.3cos(37x;) — 0.4 cos(47X;,,) +0.7)

i=1

Properties: x e [-15,15]°, F10(x") =0.

Schaffer (F11)

n-1
F11(x) = > ¢ +x3,)"™ - [sin* (50 (" +%7,)") +1]

i=1

Properties: x e [-100, 100]°, F11(x")=0.




